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QUESTION 1

Which component is required to use VMware Distributed vSwitches (vDS)? 

A. VMware NSX-T 

B. VMware SD-WAN 

C. VMware Identity Manager 

D. VMware vCenter Server 

Correct Answer: A 

Reference: https://www.altaro.com/vmware/vsphere-distributed-switch-guide/ 

 

QUESTION 2

A software developer has recently deployed two web servers that need to communicate with each other to exchange
information. A junior network administrator has been asked to connect these two virtual machines to an already existing
segment in NSX called Web-Segment and verify that communication between these two VMs is possible. The two web
servers are running in a vSphere environment managed by vCenter Server. 

Which two steps need to be performed to complete this task? (Choose two.) 

A. Connect the VMs to the segment from the NSX UI 

B. Use the traced command to check connectivity between VMs 

C. Connect the VMs to the segment from inside the Guest OS 

D. Use the ping command to check connectivity between VMs 

E. Connect the VMs to the segment from the vSphere Client 

Correct Answer: AD 

 

 

QUESTION 3

What can a service provider achieve for customers with the aid of NSX-T Tier-0 and Tier-1 Gateways? 

A. Quality of service 

B. Multi-tenancy 

C. High availability 

D. Micro-segmentation 
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Correct Answer: D 

 

 

QUESTION 4

Given this exhibit: 

Which statement is true about the firewall rule? 

A. It is a distributed firewall applied to App-Servers, DB-Servers and Web-Servers that rejects traffic on port 22. 

B. It is a gateway firewall applied to a Tier-1 gateway that rejects traffic on port 22. 

C. It is a distributed firewall applied to App-Servers, DB-Servers and Web-Servers that drops traffic on port 22. 

D. It is a gateway firewall applied to a Tier-0 gateway that drops traffic on port 22. 

Correct Answer: C 

 

QUESTION 5

Which plane of the NSX-T Data Center architecture performs the network traffic forwarding? 

A. Routing Plane 

B. Control Plane 

C. Data Plane 

D. Management Plane 

Correct Answer: C 

 

1V0-41.20 Practice Test 1V0-41.20 Study Guide 1V0-41.20 Braindumps

Powered by TCPDF (www.tcpdf.org)

1V0-41.20 Practice Test | 1V0-41.20 Study Guide | 1V0-41.20 Braindumps                                3 / 3

https://www.geekcert.com/1v0-41-20.html
https://www.geekcert.com/1v0-41-20.html
https://www.geekcert.com/1v0-41-20.html
http://www.tcpdf.org
https://www.geekcert.com/1v0-41-20.html
https://www.geekcert.com/1v0-41-20.html
https://www.geekcert.com/1v0-41-20.html

